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A - Internal Assessment Test | - September 2019
| Sub: i Eﬂi‘”ﬂ?*ﬂd Linear Algebra Sub Code: | 1SMATI1
?_Date: | 18/09/2019 ' Duration: | 90 mins I Max Marks: | 50 | Sem/Sec: 1/1-0 (CHEM CYCLE) OBE i]
" Question L is com and MARKS |CO |RBT |

1 . (a) Solve the following system of equations by usi

x+2y+z=3,

Find the Radius of curvature of x> + y3 = 3axy at the point (35,39- on it.
, 2’2

3 . Investigate the values of Aand u such that the system of equations
x+y+z=6, x + 2y + 3z = 10,

2x + 3y + 3z =10,

x + 2y + Az = pu, may have

_Qu-é;ti.(‘)n 1 is compulsory and answer any SIX questions from the rest.

ng Guass Jorden method:

[04] [CO6| L3 .

3x —y+2z=13. !

(i) Unique Solution (ii) Infinite solution (iii) No solution.
4.  Find the pedel equation of the curve T = a(1 + cos 8).

[04] ;co-x L3

[071 |cot| L3 |

Show that the curves 7™ = a™ cosnf and r™ = b™ sinnf intersect Orthogonally. | i
|

[07]

[

Scanned by CamScanner



5. Find the largest eigen value and the corresponding eigen vector of the matrix A,  [07] 'CO6| L3
by using the power method by taking initial vector as[1 1 1]7, - ‘ :

2 -1 o0
A=[-1 2 —-1].

~1 2

6. Solve the following system of equations by using Guass-Seidel method 071 oo 13
20x+y~-2z=17, 3x + 20y —z = —18, 2x — 3y + 20z = 25 1

7 Reduce the matrix A = [g ?1’} to diagonal form. 071 ‘cos’ L3

8.

With usual notation ,prove that cotp = %3—; : 071 cor’ L3
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